5.2 - Mass in the Imperial System October 13, 2020

5.2 Mass in the Imperial System

 Mass - a measure of the quantity of matter in an object.

- "the amount of stuff".
- in an imperial system the 'slug' is a measure of mass.
* use of the pound is commonly used as a measure of mass.

 Weight - a measure of the force of gravity on an object.
- in an imperial system the pound is a measure of weight.

1 oz - a slice of bread
1 Ib - football
1 tn - an adult bison

16 ounces (0z) = 1 pound (Ib)
1 ton (tn) = 2000 pounds (Ib)

*** Compared to the Sl system...

11b=0.45359237kg OR 1kg=2.2Ilbs

Mass vs. Weight

Mass - a measure of the quantity of
matter in an object.

Weight - a measure of the force of
gravity on an object.

So does this mean your mass changes
when you travel to the moon or does
your weight change?
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What does a scale measure?

Conversions Between Imperial Mass Units

160z = 11b Try these conversions:
1tn = 2000 Ibs

25002 1o 5?%‘? _ i&ilzbs
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EXERCISE: Copy and Complete the following Conversions!

16 ounces (0z) = 1 pound (Ib)
1 ton (tn) = 2000 pounds (Ib)

48 ounces'® 3 pounds
4 pounds*__/, 4 ounces
1.5 pounds&__ 24 ounces
2tons = _dppp pounds
6000 pounds=__ tons
d0ounces=__ & pounds
8 pounds = 129 ounces

1.5tons = _ 3y pounds

64 ounces = l.'i- pounds

EXAMPLE 1:

Kelly needs 1 pound 2 ounces of Gruyere cheese, 12 ounces of cheddar cheese, and
11 ounces of Swiss cheese for a fondue recipe. How manypounds of cheese does
she need in all?

Solution is... 21b 9 oz

| b 262
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EXAMPLE 2:

The cab of Andy's semi-trailer weighs 8.7 tons and the trailer weighs 6.4 tons. If the
loaded gross weight of the truck is 21.3 tons, what is the weight of load in...
a) tons?
b) pounds?
Solutions are... a) 6.2 tons & b) 12 400 Ibs

&) Al bons = $.7-04 = 6.2 €n

2006 16 = [2 400 [b
b) [.2tn¥ -

EXAMPLE 3:

A 12-ounce can of vegetables costs $1.49. A 1 |b 2-0z can of the same vegetables
costs $2.19. Which is a better buy?

Solution is... 1 1b 2-0z ($0.1217/0z)

$
}1.49 = O.Iz"f/ 5 L o dteescer
— 6 2.19-13
(202 1216666667

I b 262 = (%02

9.1 = $o.l21/oz
|3

$2.19 i the boller 'ouj
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